人力资源管理专业英语（第二版）参考答案
Unit 1

Key to the exercises

II. Read the following terms and match each with its proper definition.

1.   o)           2.   d)          3.   e)          4.   b)   

5.   f)           6.   g)           7.  l)          8.   m) 

9.   n)          10.  c)           11.  h)         12.  a)   

13.  i)              14. j)              15. k)

III. Fill in the blanks with appropriate phrases from the list below.

1. arose from       2. are concerned about   3. As a result of        4. refers to

1. as a means to     6. collaborate with      7.  were deprived of   8. will translate 

9. was charged with  10. are predisposed to    11. be weeded out    12. associated with 

IV. Determine whether the following statements are True or False.

1. F         2. F          3. F        4. T         5. T         

6. T         7. F         8. T          9. T        10 F

V. Translate the following sentences into English with the phrases given.

1. General Electric has recently developed some internal training initiatives, which other companies have difficulty matching.

2. Computer industry rose to power in the United States since the early 1980s.

3. As the competition intensifies worldwide, human resource management is growing in importance to the average Chinese enterprises.

4. HR functions today have gone well beyond the activities of the old-time personnel departments 

5. The government solicited all parties concerned to propose solutions to the problem of noise pollution.

6. China’s economic mechanism is still in transition from planned economy to market economy.

7. To be maximally effective, the Company is going to spend $3,500,000 on employee training.

8. High technology has had a far-reaching impact on the economic development of all countries in the world over the past two decades.

9. At the Annual General Meeting, the president called on the workers to voice their concerns about the prospects of the company.

10. It seems that the soaring tuition didn’t constrain young people from rushing to study abroad.

VI. Translate the following passage into Chinese.

公司也提供康复和健身计划帮助员工减缓压力并增进健康。可口可乐公司发现参加康复和健身计划的员工休病假时间减少，工作效率大大提高。家庭百货公司收到了类似的效果：他们目前为员工提供健身设施和现场课程，帮助他们戒烟、吃健康营养食品及设法协调工作内外。公司提供这些服务是为了做秀或是有利可图吗？的确不是。这是精明的公司运作。例如， SAS的估计为每年4%，而整个行业员工流失率一般为每年20%。免费医务室的运营需要100万美元，但公司的支出比员工到其他医院就诊减少50万美元。
Unit 2

Keys to the exercises

II. 

1.   c            2.   f             3.   a          4.   i         5.   j             

6.   h            7.   d            8.   b          9.   e        10.  g           

III. 

	1. in line with
	2. is concerned with
	3. contingent on  
	4. In contrast

	5. consistent with
	6. responsible for
	7. with respect to 
	8. regarded as

	9. far from
	10. entail  
	11. composed of
	12. stem from         


IV. 

	1. F
	2. T
	3. F
	4. T
	5. F

	6. F
	7. T
	8. F
	9. T
	10. T


V.

1. Sustained competitive advantage stems from the acquisition and effective use of bundles of distinctive resources that competitors cannot imitate.
2. Strategy is crucially concerned with how the organization positions itself with  regard  to  the  environment  and  in  particular  to  its  competitors.
3. In knowledge based economy, the key to business success lies in human resources rather than physical resources. 
4. Finally, the labor cost pressure leads firms to increasingly manage costs by more quickly downsizing in response to decreased product demands.

5. This new training program will contribute to foster a sound environment of organizational learning and promote the development of the diverse corporate culture. 

6. As part of its plans to increase cost-efficiency and adapt to the market situation, Nokia today announced further actions it is going to take in Devices and Markets units.

7. Take into consideration that your manager is a very busy individual, and that the later you have your appointment with him the more people he has already seen.

8. The statutes state that their purpose is to implement the comprehensive plan, and require that other rules be consistent with the comprehensive plan.

9. The quality of health service delivery depends to a large extent on the ability of Human Resource Managers to establish, develop and sustain an adequate supply of skilled health workers. 

10. To put the concept of HRM into practice involves strategic integration, developing a consistent set of employment policies, and gaining commitment. 

VI. Translate the following passage into Chinese.

在以资源为基础的观点框架内进行的经验主义分析显示，实际上多数公司将公司和产品的声誉珍视为他们最重要的财富，雇员的专门技能位居其后排在第三位。例如，很难说对于英国航空公司来说什么能比他们在伦敦希斯罗机场的飞机着陆点更重要。
通常，只靠人不能维持公司绩效“超级巨星”般的成功。…更有效地是看不同的战略资产如何相互支持，而不是参与到关于哪一种在分析上更优先或更重要的无益讨论中。人力资源必须在公司广泛的资源框架内加以分析：对公司保持其宝贵的产品声誉来说雇员是最重要的，但同时反之亦然（即，对公司留住其员工来说产品声誉是最重要的）；一个名望极高的公司会发现自己更容易吸引来高度胜任的员工。
Unit 3

Key to the exercises

II. 

	1.  g           
	2.  c             
	3.  j             
	4.  a  
	5.  h           

	6.  i             
	7.  e             
	8.  d  
	9.  b          
	10.  f   


III. 

	1. Confronted with   
	2. be tailored to   
	3. focus on  
	4. involves       

	5. is vital to  
	6. address   
	7. cut back  
	8. in transition   

	9. pinpoint   
	10. Likewise  
	11. on the part of   
	


IV. 

	1. F
	2. T
	3. F
	4. F
	5. T

	6. F
	7. F
	8. T
	9. F
	10. F

	11. T
	
	
	
	


V. 

1. The Surveys reveal that the percentage of people in this age bracket who participated in the labour force rose from 48.7% in 1988 to 59.3% in 2010.
2. Employment ratios and unemployment rates are labour market outcomes reflecting supply and demand. Such conditions are, in turn, influenced by a myriad of other direct and indirect factors.
3. As the company’s total payroll was controlled by local government, any increase had to be approved by the government.
4. These frameworks are now very elaborate and include an extensive array of independent variables.

5. Taking advantage of these conditions, they took the job and thus were generally satisfied with the job itself despite the low wages.

6. In a dynamic, unpredictable environment, organizations might develop organic HR systems that produce a human capital pool with people who can engage in a wide variety of behaviours. 

7. Germany’s rate is the highest among the three, increasing to 87.7% in 2004. In contrast, ratio in the USA steadily declined from 83.7% in 2001 to 82.5% in 2004.

8. Of the UK studies, researchers have found positive response  on  the  part  of  employees  within  ﬁrms  where  HRM  policies  and practices have been introduced.  

9. How these legal changes will impact employment and recruiting practices in the long run remains to be seen.

10. There are broadly two models for running universities. They can be autonomous institutions mainly dependent on private income such as fees donations and investments or they can be state financed and as a result state run. 
11. The other dimension is focused on talent identification, and in the long run it is probably more critical to the success of the acquisition.
VI. 

    人力资源信息系统在组织中有两个主要目的。一个与管理和运转效率有关，另一个涉及效果。人力资源信息系统的第一个目的是提高雇员和人力资源活动数据编辑的效率。如果使用计算机自动化技术，许多人力资源活动可以更高效率地进行，不需要那么多文书工作。当使用网上数据输入，必须存储的表格变少，需要亲手保存的记录也减少。多数人力资源活动的流程再造关注人力资源数据的流程识别，以及数据如何能够更有效率地为授权用户检索。工作流程、一些人力资源活动的自动化，以及人力资源记录保存是通过提高工作流程效率来改进人力资源营运的关键。
Unit 4

Key to the exercises

II. 

	1.  i
	2.  f
	3.  j
	4.  b
	5.  h

	6.  a
	7.  k
	8.  d
	9.  g
	10.  d

	11.  e
	
	
	
	


III. 

	1. vary  
	2. an integral part of   
	3. be traced to   
	4. in combination with

	5. based on   
	6. appeal to    
	7. regardless of  
	8. otherwise    

	9. distinguish between 
	10. make use of
	


IV. 

	1. F
	2. T
	3. F
	4. F
	5. T

	6. F
	7. T
	8. T
	9. F
	10. T


V. 

1. It  must  make  the  behaviour  of  firms  an  integral  part  of  the  theory  as traditional  trade  theory  is  too  general  to  be  of  much  relevance  for managers.

2. If an appropriate number of HR policies and processes is developed and implemented effectively, then HR will make a substantial impact on firm performance.

3. The origins of British Airways can be traced to the birth of civil aviation, following the First World War.

4. Although   HR   practices   are   not   themselves   sources   of   sustained competitive advantage, they play an important role in developing sustained competitive advantage.

5. This puzzle is, however, easily resolved when one distinguishes between older workers who are employed, and older workers who are job applicants.

6. Based on the experience gained from the experiment, the government will implement the system across the country at a later date. 

7. This measure could place expatriate employees in positions where they will be able to make use of the experience they acquired while overseas.

8. Governments should invest in education and infrastructure, and they should even subsidize companies that offer high value-added production in their own country, regardless of the nationality of the company owners.

9. One of the aims of communication is to alleviate the anxiety and stress that accompany every acquisition. 

10. One of the main strengths of the framework is that it is based on a multidisciplinary base drawing on new theoretical developments in HRM.
VI. 

目前美国劳动力正在发生变化，预测显示接下来几年它会发生更多变动。为了分析美国雇员和工作的构成，美国劳工统计局开展研究对现在和未来预测构成进行分析。由于经济变化及其在不同工业的影响，一些类型的员工数量少、需求量很大，然而另外一些类型员工的人数过剩。

据美国劳工统计局和不同工业组织的研究，医疗保健和与健康相关的工作正在增加，部分由于逐渐步入老龄的美国人口。技术的迅速发展正在创造对有特殊技术能力员工的需求。然而，许多像汽车和航空这样的制造业在职位和员工数量上有显著下降。这些加上其他因素使得劳动力构成可能继续发生改变。

Unit 5

Key to the exercises

II. 

	1. d
	2. i
	3. f
	4. a
	5. j

	6. b
	7. c
	8. k
	9. g
	10. h

	11. e
	
	
	
	


III. 

	1. discriminates   
	2. equated with 
	3. questionable   
	4. subject to    

	5. open to   
	6. make up for         
	7. guilty of    
	8. to the detriment of  

	9. apply to 
	10. undergone 
	11. uphold   
	12. Given   


IV. 

	1. T
	2. T
	3. F
	4. F
	5. F

	6. F
	7. F
	8. T
	9. F
	10. F


V. 

1. Wealth is not to be equated with proﬁt, although proﬁtability is generally considered a prerequisite of wealth production in a capitalist system. 

2. It is questionable whether a centralized approach to employee relations policy actually produces the best results.

3. It is likely that older workers would be subject to employment adjustment since their wages generally exceed labour productivity.

4. Management action will be open to question and discussion, with the consequence that management’s decisions may take longer.

5. As a result, they find it difficult to get new recruits and make up for this by employing elderly people, in which case not only elderly males but also elderly females constitute a high percentage.

6. In the latter case, there is the issue of transferring work abroad to the detriment of the home economy.

7. It is important to note that these staffing policies apply to key positions in MNC subsidiaries only.

8. The time pupils or trainees spent at school or college to undergo education or training increased.

9. At the early stage, in spite of the lack of an explicit corporate mission, lots of work was done to transform the performance management process.

10. Employee attitudes may be a more reliable measure of the impact of HRM, given the complex situation in the firm.

VII. 

在美国，使用种族、性别、残疾、年龄、宗教，以及其他某种特征作为选择雇员的基础一般来说是违法的。由于可能受到罚款和被拖欠工资以及支付相当数量的诉讼费用，这种做法也可能导致经济上的重大损失。不同背景的人待遇上不平等是一个沉积多年的问题，但是直到1964年的民权法案才开始立法运动拉平就业市场。从那时开始，数不清的行政命令、法规和法庭的司法解释影响了雇主/雇员关系。或许没有什么像公平就业机会那样对同时期的人力资源产生如此大的影响。
Unit 6

Key to the exercises

II. 
	1. e
	2. f
	3. d
	4. h
	5. a

	6. c
	7. b
	8. j
	9. g
	10. i


III. 

	1. keeping in mind   
	2. carry out   
	3. preceded   
	4. necessitates   

	5. are derived from 
	6. spell out   
	7. As such   
	8. familiarity with 

	9. aware of  
	10. Alternatively  
	11. stands to gain  
	


IV. 

	1. F
	2. T
	3. T
	4. F
	5. F

	6. F
	7. T
	8. F
	9. F
	10. T


V. 

1. Line managers can be asked to carry out separate ‘risk analyses’ for any key staff to assess the likelihood of their leaving.

2. More often than not, the application of HRM theories and practices to entrepreneurial settings fails to take into consideration the unique contexts of the firms.

3. The first task is to spell out the logic of the new business model and translate this into operational targets.

4. Employee representatives may, for instance, resort to the courts to prevent, or to delay, managerial decisions in certain areas.

5. But the central message was to be aware of the need to think whether one practice is consistent with another.

6. Evidence from the literature supports the claim that women are potentially better suited to international management in view of their superior interpersonal and communication skills.

7. HR professionals who focus on capability more than structure work to figure out the desired identity of the firm in the mind of the investor and customer.

8. Males generally are more likely to hold senior management positions than females even when females make up the majority of the workforce.

9. Policies and procedures regarding selection for training and development should be examined and monitored to correct any bias or imbalance.

10. A possible reason for the continued use of interviews is the simple fact that people are familiar with them.  
VI. 

文化和招聘的主要关系与员工吸引、选拔和保持相关。从吸引的角度来说，文化主要是关于一个公司投射出的品牌形象。重视文化的公司积极向候选人宣传自己的文化。这会吸引那些将在组织中成功的人，排斥那些在其他地方能更有效工作的人。这种做法可以获得直接或间接的回报。另外一个围绕文化招聘的原因是，尽管工作要求和需求不断发生变化，文化的一个明确特征就是它面对变化时保持恒久。部分基于他与组织文化的契合度而得到雇佣的人更有可能继续成为公司的宝贵资源，哪怕他最初受雇佣的职位已经不存在了。实际上，一个有效的公司文化帮助人们共同工作以适应商业变化。
Unit 7

Key to the exercises

II. 

	1. h
	2. d
	3. f
	4. c
	5. i

	6. a
	7. j
	8. b
	9. e
	10. g


III. 

	1. outright   
	2. Apart from  
	3. administer   
	4. inherent  

	5. in terms of   
	6. wary of  
	7. Having said this  
	8. capitalize on  

	9. in relation to  
	10. have a bearing on 
	
	


IV. 

	1. T
	2. F
	3. F
	4. T
	5. F

	6. F
	7. T
	8. T
	9. T
	10. F

	11. F
	
	
	
	


V. 

1. Apart from international trade in goods and services there is also a significant shift in the volume of labour migrating between countries and continents.

2. As a result some selection specialists use a battery of tests that measure several aspects of a person that may be considered of importance. 

3. This approach recognizes the inherent rivalries and conflicting goals present within organisations, and the impact this can have on strategy implementation.

4. Their classifications of employment systems vary in terms of the number of different systems they identify and the labels that they attach to them.

5. HRM systems can be the source of organizational capabilities that allow firms to learn and capitalize on new opportunities. 

6. It will highlight the strategic importance of these constraints in relation to the implementation of global strategies.

7. Moreover, the nature of contract can have an important bearing on whether such new concepts as human resource management can fundamentally change a relationship. 

8. HR professionals must become conversant with assessment tools just as they had to learn to apply computer automation to administrative tasks.

9. Efforts at globalization within organizations are consequently hampered by problems of information overload, managerial complexity, and differences in national culture.

10. All of these abuses have one thing in common: the discrepancy between promise and performance.
VI. 

选拔的系统方法从一个界定明确的职位和一个分析明确的工作规范开始。这种方法假定有一种开展工作的最好方法，还假定有一个颇为“理想的”候选人，他/她的背景和性格将预示他/她将出色地承担这个工作。这种方法通常还假定工作在未来不会发生太大变化。

另外一种方法由Herriot(1984)提出。这种方法更强调各方谈判的过程。谈判中职位性质的弹性大得多。

Unit 8

Key to the exercises

II. 

1.h.  2.d.  3.j.  4.f.  5.l.  6.c.  7.e.  8.a.  9.k.  10. m. 11.b.  12. i.  13 g

III. 

1.
ascribe to

2.
taking the lead

3.
engage in

4.
begin with

5.
It was that

6.
bring up to par

7.
balance with

8.
comes from

9.
as a response to

10.
in terms of

11.
turn to

12.
identical to
IV. 

1. (F)

2. (T)

3. (F)

4. (F)

5. (T)

6. (T)

7. (F)

8. (T)

9. (F)

10. (F)

11. (T)

12. (T)

13. (F)

V. 

1. The success of this rating system depends heavily on the anonymity of the raters and the understanding of the ratees.

2. It was these effective performance management measures that helped our company to steadily expand business and ultimately became the pacesetter of the industry.

3. The annual performance objectives for employees should be formulated after thorough communication and research, so that they can be within the reach of their ability. 

4. These informal sessions should be designed in a casual, friendly, and straightforward fashion.

5. The development and operation of an effective performance management process is the result of considerable time and effort on the part of the HR department, if not the whole company.

6. The ideal candidate for this position in the public relations department must be flexible, creative, and able to assimilate new ideas into his work.

7. The research conducted by outside auditors leads us to the conclusion that the present compensation system is unfair.

VIII.
Translate the following passage into Chinese.

绩效管理是一个各企业尤其是人力资源专业人士广泛使用的一个术语。它通过应用各种流程，技巧和系统来保持和提升个人业绩，同时增进整个企业的表现。在合理开展的前提下，绩效管理可以协助企业实现目标，帮助雇员实现个人的发展和满足感。本课介绍了不同类型的绩效管理流程并指出其长处与不足。这些方法没有哪一个是好到可以行使（发挥，担当）所有绩效管理的功能，因此，要想实现综合而有效的绩效管理最好是将几种结合运用。

Unit 9

Key to the exercises

II. 

1. c

2. g

3. k

4. e

5. f

6. a

7. d

8. h

9. i

10. l

11. j

12. b

III.  

1. resulted in

2. otherwise

3. are… preceded by

4. is…concerned with

5. familiar with

6. so that

7. is supplemented with

8. associated with

9. transfer…back

10. a variety of 

11. on the job

12. be geared to

IV. 

1. (F)

2. (T)

3. (F)

4. (F)

5. (T)

6. (F)

7. (F)

8. (F)

9. (F)

10. (T)

11. (T)

12.(F)

13. (T)

V. 

1.
It was the HR manager’s popularity, rather than his ability, that saved the training program from being a total failure. 

2.
It was the lack of its own competitive edge that led the company from prosperity to a quick decline. 

3.
Since the gas explosion in the mine last week, more and more people are concerned about the safety of the miners who work deep under the ground all year long. 

4.
The companies successfully increased employees’ work efficiency through the provision of multiple training and learning opportunities.

5.
Some people say that the government should play an active role in the establishment and development of the futures market.

6.
It may not be always true that the more effort and money you put into a project, the more competent employees the trainees will be. 

7.
Extensive exposure to criticism is often ruinous to a person’s confidence, and therefore negative comments should be used frugally.

VI. Translate the following passage into Chinese.

培训对新招和现有的员工来说都十分重要。培训针对的是现有的工作技术与能力，旨在增进当前或今后的员工业绩。培训是改变员工行为从而提升企业目标的系统化过程。雇主通过正式的培训计划为雇员提供获取工作相关技能，态度和知识的机会。雇员培训是雇主的一项重要工作。几乎所有的大型企业和大多数中型企业的有自己的培训计划。要想培训取得成效，管理高层必须大张旗鼓地给予支持。雇员必须要看到，管理高层对培训亲自过问并给以财力的支持。
Unit 10

Key to the exercises

II. 

 

1.
c

2.
d

3.
m

4.
j

5.
f

6.
b

7.
l

8.
g

9.
i

10.
b

11.
k

12.
e

13.
h

III. 

1.
had been perceived as

2.
in favor of

3.
the reverse of

4.
were driven by

5.
a function of

6.
compares… with

7.
are distinct from

8.
would be in line with

9.
the key to

10.
in the form of

11.
will be capable of

IV. 

1.
(F)

2.
(T)

3.
(F)

4.
(F)

5.
(F)

6.
(T)

7.
(T)

8.
(F)

9.
(F)

10.
(F)

11.
(T)

12.
(T)

13.
(F)

V.

1.
In many service businesses there is a growing number of people who do not necessarily want to progress in traditional career terms. 

2.
The government’s determination to remain committed to financial reforms injected long-absent confidence into the stock market.

3.
He fully recognized the importance of self-efficacy in creating productive employees, and took pains to ensure that his employees always felt a sense of being appreciated. 

4.
The manager’s stock argument was that we could best serve our own interests by serving the customer s’ interests first. 

5.
The word white-collar is commonly associated with tall office buildings, generous salaries and tremendous work pressure.

6.
The research sponsored by the Ministry of Labor and Social Security examined the extent to which prices of manufactured goods were affected by the new policy.

7.
Self-learning groups provide a platform for self-learning employees to exchange ideas and encourage each other.

8.
You may not know this, but as long as you keep trying, you can surely make a difference to your environment. 

VI. 

尽管相关研究浩如烟海，有基础性的也有应用性的，但激励这一课题人们仍未能清楚地理解，实施起来也常常不得要领。对什么能使雇员得到或失去动力有一个基本的了解是有效地激励员工的前提，因而也是高效的管理和领导的前提。从本质上说，一个人的实际状况和某个理想状况之间是有差距的，而激励则是减小这一差距的一条途径。当然，激励系统必须同当时的情况和企业政策协调一致。老话说你能把马领到河边，但不能强迫它喝水；它只有渴了才喝水—人也是一样。无论是要在工厂的车间艺压群雄或是在“象牙塔”里崭露头角，人们必须要受到他们自己或是外部刺激的激励，或者说被赶到那里。
Unit 11

Keys to the exercises

II.
 

1.
g

2.
k

3.
a

4.
l

5.
i

6.
f

7.
m

8.
b

9.
d

10.
j

11.
c

12.
h

13.
e

III.
 

1.
afford to

2.
an abundance of

3.
the need for

4.
thrive on

5.
compel to

6.
A host of

7.
a way of

8.
have been very successful in

9.
called upon to

10.
attested to

11.
are referred to as

12.
is derived from 

IV.


1.
T

2.
T

3.
F

4.
F

5.
T

6.
T

7.
F

8.
F

9.
T

10.
T

V.


1.
This program is 40 percent more expensive than the original one, but there is an abundance of interactive games and activities in this program, which makes it more effective. 

2.
Part of the Management course was teaching us how to differentiate essential tasks from less important ones. 

3.
Employees are entitled to an annual paid vation of fifteen days.

4.
The Regulation also applies to the acquisition of joint control by a number of companies acting in concert with each other. 

5.
Despite the manager’s warnings, he still exerts pressure on his subordinates to get them to do as he wants. 

6.
360-degree feedback system is an effective supplement to traditional performance management schemes, and is now widely common throughout many industries. 

7.
How can he make fair and impartial decisions when his judgment is colored by personal interest and political loyalties?

VI.


通常，员工们总会对他们的直接和间接薪酬提出许多问题，并越来越倾向于向他们的经理，主管和人力代表表达这种关注。没有一个形式化的薪酬系统就无法客观真实地处理这些问题。在这些情况下，回答必须建立在客观的基础上。一个形式化的计划能为所有薪酬决策建立一个真实的基础，从而解决这一问题。当然了，形式化并不能保证员工会接受这些回答，但它确实在增加对薪酬的理解上前进了一大步。从一个构建良好的薪酬计划中得来的好处是实实在在的。薪酬是企业达成其盈利，生产率，增长和生存等方面目标的一个重要工具。在当今竞争激烈的劳动力市场，一个形式化的薪酬系统对企业来说并不是奢侈品，而是必需品。
Unit 12

Keys to the exercises

II.
Look at the terms in the left-hand column and find the correct definitions in the right-hand column. Copy the corresponding letters in the blanks. 

1.
f

2.
d

3.
h

4.
k

5.
a

6.
c

7.
i

8.
b

9.
j

10.
e

11.
g

12.
l

III.
Fill in the blanks below with the most appropriate words from the box.

1.
balance between… and

2.
Providing for, providing for 

3.
on the basis of 

4.
dividend on 

5.
in return for 

6.
consist of 

7.
in terms of 

8.
alternative to 

9.
compensate for 

10.
is consistent with

11.
without

12.
tend to

IV.
Determine whether the following statements are TRUE or FALSE. Then put T for TRUE or F for FALSE in the brackets at the end of each statement.  

1.
(T)

2.
(F)

3.
(F)

4.
(F)

5.
(F)

6.
(F)

7.
(F)

8.
(F)

9.
(F)

10.
(T)

11.
(F)

12.
(T)

13.
(T)

V.
Translate the following sentences into English with the phrases given.

1.
He was required to report to his boss back in the headquarters at monthly intervals as part of a special training program for potential managers. 

2.
This new measure is intended to encourage those newly hired young employees to become better integrated into the corporate culture of the company. 

3.
The argument that, under the supervision of the national government, reforms in tourism industry will lead to reduced prices is dubious.

4.
A successful incentive program can engage even the most indifferent employees in innovation efforts to improve the performance of the company.

5.
Despite its seemingly complicated name, this new model is really just a variation of the formerly popular but simple machine.

6.
It seemed that the whole company was trying hard to rid itself of the negative consequences resulting from the boss’s scandal.

7.
The sale of the second largest commercial bank in this country, which is subject to regulatory approval, is expected to close in June 2004.

VI.
Translate the following passage into Chinese.

薪酬是人力资源管理的一个职能，涉及个人完成企业任务后得到的各种酬劳。薪酬职能旨在建立一个老板和雇员都认为公平合理的薪金制度，并希望能使员工热爱工作，有动力为老板出色地完成任务。总经理和人力资源专家都参与薪酬决策。薪水要受到一系列内部和外部因素的影响。影响薪酬系统最重要的因素之一是每个员工的本质。一些外部因素—政府，工会，经济大环境，和劳动力市场状况—这些都会影响薪水和工资调查。
Unit 13
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II.  

1.
e

2.
g

3.
j

4.
c

5.
i

6.
f

7.
k

8.
d

9.
a

10.
l

11.
h

12.
b

III.  

i.
call for

ii.
rested on

iii.
is… subject to

iv.
extended…into

v.
is… limited to

vi.
be defined as

vii.
Allowing for

viii.
up to

ix.
not…at all

x.
kick in

xi.
are eligible for

xii.
with regard to

xiii.
are available to 

IV.

1.
(T)

2.
(F)

3.
(T)

4.
(T)

5.
(T)

6.
(F)

7.
(F)

8.
(F)

9.
(T)

10.
(F)

11.
(F) 

V. Translate the following sentences into English with the phrases given.

i.
The basic concept of this training program is that through practice and constructive criticism the trainees will consider public presentation a natural and effective way to express themselves and convince others.

ii.
In times of crisis, the management level of a company is best demonstrated by its ability to handle public relations. 

iii.
The whole world is now observing with worried eyes the continued escalation in oil prices.

iv.
With their high quality and relatively low price, imported products are eroding away an increasing share of the local market.

v.
One thing about the new compensation program that attracted Peter was that overtime would be fully paid in addition to his regular salary.

vi.
Medicaid is a state-administered program for low-income recipients that is substantially funded by the federal government.

vii.
This company gradually developed from a small workshop into a national enterprise with annual sale revenue over a hundred million yuan. 

VI. Translate the following passage into Chinese.

在过去的几十年里，员工福利的重要性不断增长，种类不断翻新。员工福利管理曾被看作是企业为其员工提供的附加性待遇，而如今它已转变成经过深思熟虑，精心组织而来的一整套系统。雇主们认识到，为员工提供的福利会影响到求职者是否接受他们的雇佣邀请，及受雇之后是否会在本企业继续工作。因此，福利是一个有效运作的薪酬计划的必要组分。然而具有讽刺意味的是，尽管福利作为吸引和保有良好员工的手段是不可或缺的，但总体上说福利并不直接影响工人的业绩。另一方面，没有足够的福利就会导致员工不满和日益增加的旷工和人员更替。相应地，因为不提供足够福利的后果十分严重，企业要花费成百亿美元来保证每位员工都能享受到有价值的福利待遇。
Unit 14
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II. Read the following terms and match each with its proper definition.

1.   g)           2.   a)          3.   b)          4.   i)   

5.   h)           6.   j)           7.  c)          8.   d) 

9.   f)          10.  e)          

III. Fill in the blanks with appropriate phrases from the list below.

1. allowing for    2. are focused    3. adapt to   4. were derived from    5. react to   

6. were subjugated to  7. adhere to  8. conflicted with    9.agreed on  10. be qualified for

IV. Determine whether the following statements are True or False.

1. F         2. T          3. F         4. F         5. F       

6. T         7. T         8. F          9. F       10. T     

V. Translate the following sentences into English with the phrases given.

1.
The management must ensure that the working conditions are conducive to not only to productivity but also the workers’ health.

2.
Speeches distinguish man from the animals. 

3.
Many companies have integrated the network technology into the work procedures of all their divisions. 

4.
They have been seeking to improve the labor-management communication. 

5.
The recent course offering of this vocational school has been oriented towards the market requirements, thus enjoying great popularity among the students.

6.
The top managers of these high-tech enterprises tend to delegate authority to their subordinates.

7.
The existing training approach is not in line with the SHRM, so you’ve got to come up with a modified program.

8.
Chinese students have traditionally taken a passive role in learning, which is not conducive to cultivating their independent thinking and creativity.

9.
She succeeded in business at the expense of her personal life. 

10.
The seniority-based advance system works well in the large-scale enterprises of some Asian countries.

VI. Translate the following passage into Chinese.

企业多元文化即在同一个公司里由于员工的民族、种族与性别的不同而存在的差异。企业多元文化促使管理者们学习以更为宽广的文化价值观去领导和激励员工。据美国管理协会最近的一项调查表明，美国所有的企业中有一半已经正式推行了旨在促动与管理多元文化的计划。虽然人口结构的变化并不是多元文化的计划的唯一原因，但它也算是一个强劲的动因。越来越多的公司与机构已经意识到，员工的多元化，同产品质量与客户服务一样，也可以成为竞争优势。更加多元化的员工队伍意味着更广阔的思路何更多的好点子，能够促进企业的创造与革新。
